ITB2211: Information Technology for Business I
Assignment #6 is due on Thursday, November 13, 2014 @ 5 pm
Section A
1.
If the decimal number 15 in binary representation is 1XY1, then values of X and Y are:
(a)
X = 0, Y = 0

(b)
X = l, Y = 1
(c)
X = l, Y = 0
(d)
X = 0, Y = 1
2.
How many binary digits are required to count to 10010?

(a)
7


(b)
2


(c)
3


(d)
100

3.
Convert decimal 64 to binary

(a)
01010010

(b)
01000000

(c)
00110110

(d)
01001000
4.
Convert decimal 213 to binary.

(a)
11001101

(b)
11010101

(c)
01111001

(d)
11100011
5.
An octal number 237 is equal to the binary number


(a)
010 011 111


(b)
010 111 011


(c)
011 101 101


(d)
011 000 001

6.
The octal equivalence of binary number 111010 is

(a)
81

(b)
72

(c)
71

(d)
None of above

7.
The value of binary 1111 is


(a)
23 – 1


(b)
24

(c)
24 – 1


(d)
None of these

8.
What decimal number does 25 represent?

(a)
10


(b)
31


(c)
25


(d)
32

9.
The value of 25 in octal system is


(a)
20

(b)
40


(c)
400

(d)
None of these

10.
In a Binary environment two bytes put together are often called a _________ which contains ______ bits.

(a)
Bits & 8


(b)
String & 16


(c)
Word & 8


(d)
Word & 16

11.
Which is typically the longest: bit, byte, nibble, word?

(a)
Bit

(b)
Byte


(c)
Nibble


(d)
Word
12.
Which is not a word size?

(a)
64


(b)
28

(c)
16

(d)
8
13.
BCD numbers are obtained


(a)
by converting decimal number to binary


(b)
by converting decimal to octal


(c)
when each decimal digit is represented by four bit binary


(d)
by converting binary to decimal.

14.
The binary representation 100110 is numerically equivalent to


(a)
the decimal representation 46


(b)
the octal representation 46


(c)
the hexadecimal representation 46


(d)
the binary representation 26

15.
The biggest drawback to using the binary numbering system for computer operations is that it:


(a)
has long and confusing strings of 1s and 0s


(b)
has long and confusing strings of 2s


(c)
is difficult to convert


(d)
is difficult to handle

16.
The Binary Coded Decimal (BCD) uses:


(a)
4-bit representation of decimal digits


(b)
6-bit representation of decimal digits


(c)
8-bit representation of decimal digits


(d)
All of the above

17.
Which of the following is NOT correct?


(a)
The 4-bit BCD code in practice is used only to represent numbers

(b)
The use of 4-bit BCD saves space when large decimal numbers must be represented

(c)
It is easier to convert a 4-bit BCD to its decimal equivalent than to convert a binary representation to decimal


(d)
None of the above

18.
The decimal number 80 can be represented in BCD code as

(a)
1000 0001


(b)
0101 0000


(c)
0010 0001


(d)
1000 0000

19.
If (12A7C)16 = (X)16, then the value of X is


(a)
224174


(b)
425174


(c)
17325


(d)
225174

20.
The binary equivalent of the hexadecimal number 7BD is


(a)
0111 1011 1101


(b)
1110 1011 1111


(c)
1011 1011 1101


(d)
1011 1011 1101

21.
How many different number can a 6-bit word represent?


(a)
63


(b)
64


(c)
124


(d)
128

22.
Which of the following is the binary representation of the hexadecimal number 3B7F?


(a)
0100 1001 1110 1101


(b)
0011 1011 0111 1111


(c)
1111 1011 0111 1001


(d)
0010 0100 0000 1010

23.
Which of the following is true about BCD?


(a)
It is a 8-4-2-1 weighted code


(b)
(1234567)10 needs 4 bytes in BCD representation


(c)
Conversion to and from the decimal system can be done easily


(d)
All of these

24.
Which of the following statements is NOT true about BCD code?


(a)
It is a 8-4-2-1 weighted code


(b)
Conversion to and from the decimal system can be done easily


(c)
Both (a) and (b)


(d)
Complement of a number can be found efficiently

25.
Binary Coded Decimal (BCD) numbers express each digit as a


(a)
Byte


(b)
Nibble


(c)
Bit


(d)
All of these

26.
The result of the addition (A0)16 + (613)16 is


(a)
(6B3)16

(b)
(16B)16

(c)
(A0B)16

(d)
(A6B)16
27.
The result of the addition (3716 + 1916) is


(a)
5016

(b)
5616

(c)
5916

(d)
None of these

28.
The result of the subtraction FD16 – 8816 is


(a)
7516

(b)
6516

(c)
5E16

(d)
1016
29.
Which of the following is an unweighted code?


(a)
8421 code


(b)
Excess 3 code


(c)
2421


(d)
5211

30.
Which code is a weighted code?


(a)
BCD code


(b)
Excess–3


(c)
ASCII


(d)
5111

Section B
1.
Convert each of the following to its binary representation:


(a)
780ten
(b)
4206eight

(c)
50C7F6sixteen
2.
Convert:


(a)
1010101two to its decimal equivalent


(b)
111001100two to its octal equivalent


(c)
11101101101100two to hexadecimal


(d)
2367eight to Hex

3.
Convert the following decimal numbers to their Binary Coded Decimal (BCD) format:


(i)
2367


(ii)
2900

4.
Convert each of the following BCD numbers to its decimal equivalent:


(a)
0011 0101 1011 1101


(b)
1100 1001 1000

5.
Encode each of the following decimal number in the 8–4–2–1 BCD code:


(i)
5495



(ii)
89567

6.
Decode each of the following numeric, expressed in the 8–4–2–1 BCD code:

(a)
1011 1010 0011

(c)
0111 0011 0000 1001
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